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Suraj sells a bike to ﬁaqhu at a profit of 20%. Find the selling price at which

Raghu should sell the bike so that he can get a profit gf 1?;::. if Suraj bought the
cycle at Rs. 30000.
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Let X be the mode of the data 23, 26, 22, 20, 24, 20, 26, 24, 26, 28, 23, 20, 24,
28, 22, 26. If 22 is replaced by 24, then the mode of the data is y. What approx
% of the new mode is the old mode?
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Two wires are of length respectively 58 m and 86 m. These wires are joined
together to make a sq uare field. What is the cost of plowing the square field at

the rate of Rs. 4 per m4;
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The area of two similar triangles are 9 sq m and 36 sq m, respectively. If the
height of one triangle is 24 m, then the height of the other one is
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The income of A |5‘ more than the income of B and the_ir mcr::me of C is 60%
less than the sum_of the incomes of A and B. The income of D is 20% more than
that of C_If the difference between the incomes of B and D is Rs. 13200, then

—
the income (in Rs.) of C is:
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Divide 27 into two parts in such a way that 5 times the first part and 11 times the
second part both together are equal to 1995, then the ratio of the first and second
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The sum of two numbers is 36. Their H.C.F. and L.C.M. are 3 and 105
respectively. The sum of reciprocals of those two numbers will be
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The ratio between length and breadth of a room is 3 : 2. The cost of coloring all

four walls at 50 paise per sq # 450 If theler th of the room ig 15 m, find
the height of the room? /“
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Find the greatest number by which 43 91 and 183 are divided, leaving the
same remainder each time.

dg dol I dol AT JId tﬁf)ll\ﬂk%lﬂ“@[mﬁS ®! HAT &1 R U D dR

G Y &1 5|
), 140
7
q, 13
9




(o) WMatkendra || P POLICE miraasi,/ UP azaars |
A circular disc of are‘ 2 rolls down a distance of 1.98 km. Find the number

N—

of revolutions required by the circular disc to complete the distance?
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There are 20 hens, 15 cows and some cowherds in a field. If the total number of
feet of all is 80 more than the total number of heads of all, then how many
cowherds will be standing there?
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A mechanic purchased a 2"9 hand bike for Rs. 22,500. Rs. 1,000 spent on
repair and Rs. 800 for transportation charges. What must be selling price of bike

in order to earr@@?
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If area of rhombus is 100 cm? and one of its diagonal is twice of other, then find
the value of bigger diagonal.

gfe JHIGUS DT &AHel 100 YHI2 § 3R SHDUD [deh0] g Y SN 5, dl &9
f[g®ul &1 aF @ eifoar,.

d, 7> —1
OrS
lxlﬁsfﬁ( =1¢0 40 cm

/(;/ {‘%‘—l‘o 25 cm

——

45 A




[ Matkendras [ P POLICE mirsas,/ UP aizaurs |

what is the difference between the mean and median of set S = (g_i_z
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per annum and that on the otherpart ( imple
interest per annum are equal. The interest on each
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